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RIER O FRIRXEEE

B3 -2 BEMICERTHEBESNSERICE I HFER1/3) _ _ REEE FIR2TFE
[ SEMmOME | Emes | 02040715 B | ZOI [ et kB |
SlaRHO TimCBHEET 51 ZERHRA
E{fg TEEOBBOEIENDOKRES TREDHBESSLNOKRES TREDBBOEILHDKRES TREFDHRBESSLENDOKRES
1 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ.% — - ~ — —|3mZEEBZRD - ~ — — —
ZhLs — — ~ = — | Zh st — ~ = — — ZhnLst — — ~ — —| 2 st — ~ — — —
2 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ.% — - ~ — —|3mZEEBZRD - ~ — — —
Tt 1.00 | 000 ~ 684 86.60 | ThS | 000 ~ 684]1.80 9.12 st 1.00 | 6.00 ~ 843 86.60 | TN | 5,00 ~ 843 1.80 912
3 100kN/m%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ% — - ~ — —|3mZEiBZRD - ~ — — —
Tt 1.00 | 0.00 ~ 7.05 89.51 | #hst 000 ~ 000|177 8.97 st 1.00 | 6.00 ~ 882 89.61 | =nLS | 5,00 ~ 882|177 8.97
p 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ.% — - ~ — —|3mZEEBZRD - ~ — — —
Tt 1.00 1000 ~ 676 85.44 | TnAS | 000 ~ 0.00] 1.69 8.66 st 1.00 | 6.00 ~ 8.30 85.44 | TN | 5,00 ~ 830 1.69 8.66
5 100kN/mM%E#BZ % — -~ = —[3mZEEBRD| — ~ — — — | 100kN/mMi%#BZ% — - ~ — —|3mZEEBZD - ~ — — —
Tt 1.00 1000 ~ 676 85.45 | TnAS | 000 ~ 0.00] 1.69 8.57 st 1.00 | 6.00 ~ 8.30 85.45 | TN | 5,00 ~ 830 1.69 8567
P 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi#%#BZ.% — - ~ — —|3mZEiEBZD - ~ — — —
Tt 1.00 | 000 ~ 432 53.99 | TnLS | 000 ~ 432 1.98 10.01 st 1.00 | 6.00 ~ 5.00 53.99 | TN | 5,00 ~ 5.00) 1.98 10.01
7 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ.% — - ~ — —|3mZEEBZRD - ~ — — —
ZhLs — — ~ = — | #h st — ~ = — — ZhLst — — ~ — —| 2 st — ~ — — —
P 100kN/mM%E#BZ % — -~ = —[3mZEEBRD| — ~ — — — | 100kN/mMi%#BZ% — - ~ — —|3mZEEBZD - ~ — — —
Tt 1.00 {000 ~ 691 87.45 | #hS | 0.00 ~ 691204 10.33 ZhLst 1.00 | 6.00 ~ 1012 87.45 | TN | 5,00 ~ 1012) 2.04 10.33
9 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi#%#BZ.% — - ~ — —|3mZEEBZD - ~ — — —
Tt 1.00 | 000 ~ 5.33 66.45 | ThRSY 000 ~ 533|238 12.01 st 1.00 | 6.00 ~ 1091 66.45 | ThS | 6,00 ~ 1091|238 12.01
10 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ.% — - ~ — —|3mZEBZD - ~ — — —
st 1.00 | 000 ~ 769 98.58 | #FhS |0.00 ~ 769 1.91 9.64 ZhLst 1.00 | 6.00 ~ 10.78 9858 | TN | 5,00 ~ 1078 1.91 9.64
11 100kN/m%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ% — - ~ — —|3mZEiBZRD - ~ — — —
ZhLs — — ~ = — | Zh st — ~ = — — ZhLst — — ~ — —| 2 st — ~ — — —
12 100kN/mM%E#BZ % — -~ = —[3mZEEBRD| — ~ — — — | 100kN/mMi#%#BZ.% — - ~ — —|3mZEEBZD - ~ — — —
ZhLs — — ~ = — | Zh st — ~ = — — ZhLst — — ~ — —| 2 st — ~ — — —
13 100kN/mM%E#BZ % — -~ = —[3mZEEBRB| — ~ — — — | 100kN/mMi%#BZ% — - ~ — —|3mZEiEBZD - ~ — — —
ZhLs — — ~ = — | #h st — ~ = — — ZhLst — — ~ — —| 2 st — ~ — — —
14 100kN/m%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ% — - ~ — —|3mZEEBZRD - ~ — — —
ZhLs — — ~ = — | #h st — ~ = — — ZhLst — — ~ — —| 2 st — ~ — — —
P 100kN/mM%E#BZ % — -~ = —[3mZEEBRB| — ~ — — — | 100kN/mMi%#BZ% — - ~ — —|3mZEiEBZD - ~ — — —
Zh s — -~ = —| #hust -~ = — — FhLst — — ~ — —| Fhsn — ~ — —




RIER O FRIRXEEE

B3 —2 BEWICERT HEBESNDEEICRET HEIE(2/3) _ _ REEE FIR2TFE
[ REFEOE | Emas 02040715 B4 | ZOR T a0 SRR
SlaRHO TimCBHEET 51 ZERHRA
Egg TEEOBBOEIENDOKRES TREDHBESSLNOKRES TREDBBOEILHDKRES TREFDHRBESSLENDOKRES
= = AV AV | = = AV = W AN s =
&5 X 4 .(.rr,né; Tmb(f;)@ﬂﬁﬁﬁ jj(ﬁitnié K 4 —Flﬁﬁgé%z((ﬁ;k:F .Z.n—c)k jj(giicn%é R 4 .(.7,3 J:m;b(r;)d)tl:.a. jj(giicn%é X 4 J:lﬁﬁﬁ(z)o)ttlsj '?3 jj(ﬁitnié
16 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ.% — - ~ — —|3mZEEBZRD - ~ — — —
ZhLs — — ~ = — | Zh st — ~ = — — ZhnLst — — ~ — —| 2 st — ~ — — —
17 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ.% — - ~ — —|3mZEEBZRD - ~ — — —
Tt 1.00 | 000 ~ 4.65 57.92 | #FhS 000 ~ 465 1.85 9.37 st 1.00 | 6.00 ~ 5.00 57.92 | #nLS | 5,00 ~ 500 1.85 9.37
18 100kN/m%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ% — - ~ — —|3mZEiBZRD - ~ — — —
Tt 1.00 | 000 ~ 4.99 6218 | =hs (000 ~ 000173 8.73 st 1.00 | 6.00 ~ 5.29 62.18 | Ths | 6,00 ~ 529|173 873
19 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ.% — - ~ — —|3mZEEBZRD - ~ — — —
Tt 1.00 | 000 ~ 457 56.98 | FnList 000 ~ 457 1.89 9.56 st 1.00 | 6.00 ~ 5.00 56.98 | TN | 5,00 ~ 5.00)| 1.89 9.66
2 100kN/mM%E#BZ % — -~ = —[3mZEEBRD| — ~ — — — | 100kN/mMi%#BZ% — - ~ — —|3mZEEBZD - ~ — — —
ZhLsh — — ~ = — | Zh st — ~ = — — ZhLst — — ~ — —| 2 st — ~ — — —
27 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi#%#BZ.% — - ~ — —|3mZEiEBZD - ~ — — —
ZhLs — — ~ = — | #h st — ~ = — — ZhnLst — — ~ — —| 2 st — ~ — — —
29 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ.% — - ~ — —|3mZEEBZRD - ~ — — —
ZhLs — — ~ = — | #h st — ~ = — — ZhLst — — ~ — —| 2 st — ~ — — —
23 100kN/mM%E#BZ % — -~ = —[3mZEEBRD| — ~ — — — | 100kN/mMi%#BZ% — - ~ — —|3mZEEBZD - ~ — — —
ZhLs — — ~ = — | Zh st — ~ = — — ZhLst — — ~ — —| 2 st — ~ — — —
24 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi#%#BZ.% — - ~ — —|3mZEEBZD - ~ — — —
ZhLs — — ~ = — | Zh st — ~ = — — ZhnLst — — ~ — —| 2 st — ~ — — —
25 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ.% — - ~ — —|3mZEBZD - ~ — — —
ZhLs — — ~ = — | #h st — ~ = — — ZhLst — — ~ — —| 2 st — ~ — — —
2% 100kN/m%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ% — - ~ — —|3mZEiBZRD - ~ — — —
ZhLs — — ~ = — | Zh st — ~ = — — ZhLst — — ~ — —| 2 st — ~ — — —
27 100kN/mM%E#BZ % — -~ = —[3mZEEBRD| — ~ — — — | 100kN/mMi#%#BZ.% — - ~ — —|3mZEEBZD - ~ — — —
ZhLs — — ~ = — | Zh st — ~ = — — ZhLst — — ~ — —| 2 st — ~ — — —
28 100kN/mM%E#BZ % — -~ = —[3mZEEBRB| — ~ — — — | 100kN/mMi%#BZ% — - ~ — —|3mZEiEBZD - ~ — — —
ZhLs — — ~ = — | #h st — ~ = — — ZhLst — — ~ — —| 2 st — ~ — — —
29 100kN/m%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ% — - ~ — —|3mZEEBZRD - ~ — — —
ZhLs — — ~ = — | #h st — ~ = — — ZhLst — — ~ — —| 2 st — ~ — — —
20 100kN/mM%E#BZ % — -~ = —[3mZEEBRB| — ~ — — — | 100kN/mMi%#BZ% — - ~ — —|3mZEiEBZD - ~ — — —
Zh s — -~ = —| #hust -~ = — — FhLst — — ~ — —| Fhsn — ~ — —




RIER O FRIRXEEE

BX3—2 REYICHERT HLBESNAEHRICEYT SEIRGE/O) _ i REEE | ik
[ REFEOME | ErEs 02040715 B4 | ZO [ el | B DRI
SERHO Tin g 5T i SERA
Egg TEEOBBOEIENDOKRES TREDHBESSLNOKRES TREDBBOEILHDKRES TREFDHRBESSLENDOKRES
21 100kN/mM%E#BZ % — -~ = —[3mZEBRB| — ~ — — — | 100kN/mMi%#BZ.% — - ~ — —|3mZEEBZRD - ~ — — —
Tt 1.00 | 000 ~ 763 97.71 | 0S| 0.00 ~ 7.63) 203 10.27 st 1.00 | 6.00 ~ 10.68 97.71 | #nLSY | 5,00 ~ 1068] 2.03 10.27
32 100kN/mM#%#82% | 1.00 | 0.00 ~ 051 107.51 |3mZE#BABH| — ~ — — — | 100kN/m%E#Bz5| 1.00 | 1062 ~ 1209 107.51 |3mEBZD - ~ — — —
Tt 1.00 | 051 ~ 829 100.00 | =ns | 000 ~ 829|212 10.74 st 1.00 | 6.00 ~ 1062 100.00 | =hs | 5,00 ~ 1209 2.12 10.74
33 100kN/mM##BZ 5| 1.00 | 000 ~ 038| 10568 |3mEBZD| — ~ — — — | 100kN/mM%#BZ 5| 1.00 | 1092 ~ 1211 105.68 |3mZ&i#BAS - ~ — — —
Tt 1.00 | 038 ~ 817 100.00 | RS | 000 ~ 817|206 10.41 st 1.00 | 6.00 ~ 1092 100.00 | =hs | 5,00 ~ 1211|206 10.41
100kN/mM%E#BZ % ~ ImERBZRD ~ 100kN/mM##B% % ~ 3ImEHEZD ~
ZhLs ~ ZhLst ~ ZhLst ~ ZhLs ~
100kN/mM%E#BZ % ~ ImERBZD ~ 100kN/mM##B % % ~ 3ImEHEZD ~
ZhLsh ~ ZhLst ~ ZhLst ~ ZhLs ~
100kN/mM%E#BZ % ~ ImEHBZRD ~ 100kN/mM##B% % ~ 3ImEHEZD ~
ZhLs ~ ZhLst ~ ZhnLst ~ ZhLs ~
100kN/mM%E#BZ % ~ ImERBZD ~ 100kN/mM##B% % ~ 3ImEHEZD ~
ZhLs ~ ZhLst ~ ZhLst ~ ZhLs ~
100kN/mM%E#BZ % ~ ImERBZRD ~ 100kN/mM##B % % ~ 3ImEHEZD ~
ZhLs ~ ZhLst ~ ZhLst ~ ZhLs ~
100kN/mM%E#BZ % ~ ImERBZRD ~ 100kN/mM##B% % ~ 3ImEHEZD ~
ZhLs ~ ZhnLst ~ ZhnLst ~ ZhLs ~
100kN/mM%E#BZ % ~ ImERBZD ~ 100kN/mM##B% % ~ 3ImEHEZD ~
ZhLs ~ ZhLst ~ ZhLst ~ ZhLs ~
100kN/m%E#BZ % ~ ImERBZRD ~ 100kN/mM##B % % ~ 3ImEHEZD ~
ZhLs ~ ZhLst ~ ZhLst ~ ZhLs ~
100kN/mM%E#BZ % ~ ImERBZRD ~ 100kN/mM##B% % ~ 3ImEHEZD ~
ZhLs ~ ZhLst ~ ZhLst ~ ZhLs ~
100kN/mM%E#BZ % ~ ImEHBZD ~ 100kN/mM##B% % ~ 3ImEHEZD ~
ZhLs ~ ZhLst ~ ZhLst ~ ZhLs ~
100kN/m%E#BZ % ~ ImERBZRD ~ 100kN/mM##B% % ~ 3ImEHEZD ~
ZhLs ~ ZhLst ~ ZhLst ~ ZhLs ~
100kN/mM%E#BZ % ~ ImEHBZD ~ 100kN/mM##B% % ~ 3ImEHEZD ~
Zh s ~ FhLst ~ FhLst ~ Zh s ~
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